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1. Spieltag P
KSG Neuhof 1 KSV Wetzlar 1 31:0 3.0
KV Blau WeilR Sontra 2 Blau-WeiR Kirberg 1 2[:]1 2:1
M85 Mittelhessen 1 KSG Honebach-Ronshausen1l | 0|:[ 3
KSG Dillenburg-Herborn 1 KSV Baunatal 1 31:]0
2. Spieltag P
Blau-Weil3 Kirberg 1 M85 Mittelhessen 1 21:11
KSV Baunatal 1 KSC Heuchelheim 1 21:11
KSG Honebach-Ronshausen 1 |KSG Dillenburg-Herborn 1 211
KSV Wetzlar 1 KV Blau Weil3 Sontra 2 310
3. Spieltag P
KSC Heuchelheim 1 KSG Neuhof 1 0f:]13
Blau-Weil3 Kirberg 1 KSG Dillenburg-Herborn 1 0]:3
KSV Baunatal 1 KSG Honebach-Ronshausen1 |2 |:[ 1
M85 Mittelhessen 1 KSV Wetzlar 1 3(:]0
4. Spieltag P
KSG Neuhof 1 KV Blau Weil3 Sontra 2 3(:]0 3.0
KSG Honebach-Ronshausen 1 |KSC Heuchelheim 1 3(:]0 3:0
Blau-Weil3 Kirberg 1 KSV Baunatal 1 3(:]0
KSV Wetzlar 1 KSG Dillenburg-Herborn 1 3(:]0 .
5. Spieltag P
KV Blau Weil3 Sontra 2 KSC Heuchelheim 1 2|1 S |von -
KSG Honebach-Ronshausen 1  |Blau-Weil Kirberg 1 3110 4 |von 3.0
M85 Mittelhessen 1 KSG Neuhof 1 2(:11 6 |von 2:1
KSV Baunatal 1 KSV Wetzlar 1 3(:]0 7 |[von -
6. Spieltag P
KSC Heuchelheim 1 Blau-Weil3 Kirberg 1 211 6 |von
KV Blau Weil3 Sontra 2 M85 Mittelhessen 1 310 3 |von
KSG Neuhof 1 KSG Dillenburg-Herborn 1 3(:]0 8 [von
KSV Wetzlar 1 KSG Honebach-Ronshausen1l | 2|:[ 1 9 |von
7. Spieltag P
Blau-Weil3 Kirberg 1 KSV Wetzlar 1 3(:]0 8 [von
M85 Mittelhessen 1 KSC Heuchelheim 1 3(:]0 1 |von
KSV Baunatal 1 KSG Neuhof 1 ol:l3
KSG Dillenburg-Herborn 1 KV Blau Weil3 Sontra 2 3(:]0 7 |von
8. Spieltag P
KV Blau Weil3 Sontra 2 KSV Baunatal 1 3(:]0 9 |von
KSC Heuchelheim 1 KSV Wetzlar 1 211 4 |von
KSG Neuhof 1 KSG Honebach-Ronshausen1l | 3(:[ 0 4 |von
M85 Mittelhessen 1 KSG Dillenburg-Herborn 1 211 9 |von
9. Spieltag P
Blau-Weil3 Kirberg 1 KSG Neuhof 1 2111 4 |von
KSG Honebach-Ronshausen 1 |KV Blau Weil Sontra 2 3(:]0 7 |[von
KSV Baunatal 1 M85 Mittelhessen 1 2111 4 |von
KSG Dillenburg-Herborn 1 KSC Heuchelheim 1 3[:]0 4 |[von
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10. Spieltag P
KSV Baunatal 1 KSG Dillenburg-Herborn 1 3(:]0
KSV Wetzlar 1 KSG Neuhof 1 3(:]0
Blau-Weil Kirberg 1 KV Blau WeiR Sontra 2 3]:|0
KSG Honebach-Ronshausen 1  |M85 Mittelhessen 1 211
11. Spieltag
KV Blau Weil3 Sontra 2 KSV Wetzlar 1 211
KSC Heuchelheim 1 KSV Baunatal 1 211
M85 Mittelhessen 1 Blau-Weil3 Kirberg 1 3110
KSG Dillenburg-Herborn 1 KSG Honebach-Ronshausen1l |3 ]:[0
12. Spieltag
KSG Dillenburg-Herborn 1 Blau-Weil3 Kirberg 1 3110
KSG Neuhof 1 KSC Heuchelheim 1 3[:]0
KSV Wetzlar 1 M85 Mittelhessen 1 0f:]13
KSG Honebach-Ronshausen 1 |KSV Baunatal 1 211
13. Spieltag
KSC Heuchelheim 1 KSG Honebach-Ronshausen1l | 3|:[ 0
KSV Baunatal 1 Blau-Weil3 Kirberg 1 3(:]0
KSG Dillenburg-Herborn 1 KSV Wetzlar 1 3]:]o
KV Blau Weil3 Sontra 2 KSG Neuhof 1 2(:11
14. Spieltag
KSC Heuchelheim 1 KV Blau Weil3 Sontra 2 310 6
KSG Neuhof 1 M85 Mittelhessen 1 211 6
Blau-Weil3 Kirberg 1 KSG Honebach-Ronshausen1 | 0 |:] 3 6
KSV Wetzlar 1 KSV Baunatal 1 2(:11 6 2:1
15. Spieltag
Blau-Weil3 Kirberg 1 KSC Heuchelheim 1 0l:[3
KSG Hoénebach-Ronshausen 1 |KSV Wetzlar 1 3[:]o
M85 Mittelhessen 1 KV Blau Weil3 Sontra 2 2(:]1
KSG Dillenburg-Herborn 1 KSG Neuhof 1 2(:11
16. Spieltag
KSC Heuchelheim 1 M85 Mittelhessen 1 0l:3 3 |[von| 6 -
KSG Neuhof 1 KSV Baunatal 1 3(:]0 5 |von| 6 3:0
KV Blau Weil3 Sontra 2 KSG Dillenburg-Herborn 1 211 5 |von| 6 2:1
KSV Wetzlar 1 Blau-Weil3 Kirberg 1 2]:]1 3 |von| 6 -
17. Spieltag
KSV Wetzlar 1 KSC Heuchelheim 1 211
KSG Dillenburg-Herborn 1 M85 Mittelhessen 1 2(:11
KSV Baunatal 1 KV Blau Weil3 Sontra 2 3110
KSG Hoénebach-Ronshausen 1 |KSG Neuhof 1 3(:]0
18. Spieltag
KSG Neuhof 1 Blau-Weif3 Kirberg 1 3[:]0 3:0
KV Blau Weil3 Sontra 2 KSG Honebach-Ronshausen1l | 3]:[ 0 H
M85 Mittelhessen 1 KSV Baunatal 1 3[:]o 3:0
KSC Heuchelheim 1 KSG Dillenburg-Herborn 1 2(:11 2:1
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49,3 % 40| 37|35(30(34|25|15(20(13|11| 34| 3| 3|22|2]1|1(1]1]0
Tippsges. |72 72| 68|68|64|44(40(36|36|24 |12 8| 4|4 | 4|4 |4|4]|4]4]|4]4
% 55,6/51,4(51,5|44,1153,1|56,8(37,5|55,6|36,1|45,8(25,0|50,0|75,0|75,0{50,0]50,0/50,0( 25,0| 25,0] 25,0{ 25,0{ 0,0




